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fun main(args: Array<String>)
{

("!printin("Hello, World

}
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fun main(args: Array<String>) { val a: Int = 10000 val d: Double = 100/00 val f:

Float = 100/00f val I: LONg = looococooolr val s: Short = 10 val b: Byte = |

printin("Your Int Value is "+a); printin("Your Double Value is "+d);

printin("Your Float Value is "+f); printin("Your Long Value is "+l); printin("Your

{;(Short Value is "+s); printin("Your Byte Value is "+b

=0 3495 3yl g Ylogd juo 4> 1) 42j 529> <3S L2l Guuzgd 35 J=2o 43 ) UL (gl 55 s

RS

Your Int Value is 10000Your Double Value is 100.0Your Float Value is

100.0Your Long Value is 1000000004Your Short Value is 10Your Byte Value
is 1
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fun main(args: Array<String>) { val letter: Char // defining a variable letter

='A" /I Assigningavaluetoit printin("$letter")}
S ;o YLl JS)950 52955 (5 02 5 1 g2 (5 0 UL gl 5S

A

L .2l 92 sl u1ne0 95 giT . gy 0wlys (glod Yl (5 oy Jho Cuwl 0dlw LS g2
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fun main(args: Array<String>) { val letter: Boolean // defining a variable
letter = true /l Assinging avalue toit printin("Your character value is
"+"$letter")}
23S 50 3095 585950 43 1 g2 (5 02 UL (sl 5S
Your character value is true
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fun main(args: Array<String>) { var rawString :String = "l am Raw String!"
val escapedString : String = "I am escaped String'\n"
printin("Hello!"+escapedString) printin("Hey!!"+rawString) }

> Jgiws gl 1 Juy gridiey b3 g 6lold b sas 5o o)l aisy S gle oy I UL JUio
D9l 50 Sl JS 5930 4 Joj (5 0 L 3gib Sl
Hello!l am escaped String! Hey!!l am Raw String!
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oS 50 o3 laiwl Galizo (gl oglyTjl nj JUio 43 338 50 (5 beridiny
fun main(args: Array<String>) { val numbers: IntArray = intArrayOf(1, 2, 3, 4,
5) printin("Hey!! | am array Example"+numbers[2])}

o0l 5l L) (5 oy Jio Lo oglyT (3,5 Cuwygd 35S 50 g5 | jj o295 UL glo SS
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Hey!! | am array Example3
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fun main(args: Array<String>) { val numbers: MutableList<Int> =
mutableListOf(1, 2, 3) /mutable List val readOnlyView: List<Int>= numbers
/limmutable list printin("my mutable list--"+numbers) // prints "[1, 2, 3]"
numbers.add(4) printin("my mutable list after addition --"+numbers)  //
prints "[1, 2, 3, 41" printin(readOnlyView)  readOnlyView.clear() //=
does not compile // gives error }

G EaslgS 50 89 L CLbIDS MislgS iulad 6 jS 950 53 1) sj (5 o UL sl 5S


https://iracode.com/wp-content/uploads/2022/07/2-compressed1-1-768x480.jpg.webp

pdf+ g anlp (bj o baw Gijgel ’
(Jgl crouna) <
main.kt:9:18: error: unresolved reference: clear readOnlyView.clear() //->
A does not compile
S o 83lyl o g ()first(), last(), filter Jsio (gyg2 355 gbd diio (pulilS cacgozo §o
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fun main(args: Array<String>) { val items = listOf(1, 2, 3, 4) printin("First
Element of our list----"+items.first())  printin("Last Element of our list----
"titems.last()) printin("Even Numbers of our List----"+items. filter { it % 2 =
=01}) //returns[2,4] valreadWriteMap = hashMapOf("foo"to 1, "bar" to 2)
printin(readWriteMap["foo"]) // prints "1"  val strings = hashSetOf("a", "b",
"c","c") printin("My Set Values are"+strings)}
D2 50 gl SS90 33 [ 2j 6295 UL sl S
First Element of our list—-1Last Element of our list—-4Even Numbers of our
List—-[2, 411My Set Values are[a, b, C]

8S 23S o skl gygill « Haskell Jho .couwl GulslS jols glad Siug jl Sus oSu b sl
g9 23S oslaiwl ()rangeTo jl ol gl LIS .auaS 1S5 axols Sy 31 23S Lo SaS Lok oy
awl (L) s 9T gl JSub
A5S 5o Lol 1 osols jgiluul al 63952 GalslS 68 i (0 ) JUio Jo
fun main(args: Array<String>) { vali:Int =2 for (jin1..4) print(j) // prints
"1234" if(iin1..10) { //equivalentof 1 <=i1&&i<=10 printin("we found
your number --"+i) }}
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fun main(args: Array<String>) { vala:Int=5 valb:Int=2 varmax:Int if (a

>b){ max=a }else{ max=b } print("Maximumofaorbis"+max) //
As expression //val max =if (a>Db) aelse b}

&S b Jolibs lo JUio .3as o gliw jS)950 43 62 ylgie o |y j2j 529> UL (sl S

A o gL [ cyle Sy glgie oo if jgiws jloslaiwl (56925 68 3uibl (50 jud gSud

Maximumofaorbis5
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02j90T 50 Iy ulslS
fun main(args: Array<String>) { valx:Int=5 when(x) { 1->print("x==
1"y  2->print("x==2") else -> { // Note the block print("x is neither
1nor2"y 1} }}
D3B3 0 YLt JS)950 43 |y ) 529> UL sl S
X is neither 1 nor 2
22 b S1 .3 50 Guabs 030 0313 (gl 65Uk b 1) X jlado pulslS o yio (5 6ol UL JUio 4o
siz> b When (g3l g3 .3aS o 2l 1) ELSE sy o8 T ais o315 (aubs Lo 65U jl plsS
Cunl 0335 Ligo L 35S dsuwngs gl JSud Siug So GulslS Uijgol .aaS o gl IF Sel
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fun main(args: Array<String>) { valx:Int=5 when (x) { 1,2->print("
Value of X either 1,2") else -> { // Note the block print("x is neither 1
nor2") } }}

DS 50 GLis jS5930 43 |y ) 29> 63 .aiS 1ol 4S5 5950 3 |y (yaasd
X is neither 1 nor 2
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b I For g edls jl oslaiwl g Iyol .cuwl 45 3890 owss jI FOr b T ¢y jd Lol .3 0
Gl JUio 4> oo jl plgs ;0 63952 S 5o YLiw yuj JUio .Cuwl Iglo 6y oy ;09840
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fun main(args: Array<String>) { valitems =listOf(1, 2, 3, 4) for (iinitems)
printin("values of the array"+i)}

Lol b s odls s oslatiwl glhs 9 .ol 0335 (J920 ITEMS pb oy cad S UL gl 5S )
USud 0y 529> - o YL JS 5930 5> 1) Uibylado g ot 6.3 iy e S las Gl
owl )
values of the array1values of the array2values of the array3values of the
array4
Olo (5 d=wgi IS U S o oslatuwl gl 6olulS 50 18 jloaS J 5o ¢ 55 jl 55800 JUio yuj s
Ry AN RY RN P RN g Y- Iy ] I W i
fun main(args: Array<String>) { valitems =listOf(1, 22, 83,4) for ((index,
value) initems.withindex()) { printin("the element at $index is $value") }}
031> GLis 535930 33 321j G292 S U2l 9 (5)9T 202 1) Guuags 3S 2o 5> UL gl SS g
Ul dalgs
the element at O is 1the element at 1 is 22the element at 2 is 83the element at 3
is 4
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https://iracode.com/wp-content/uploads/2022/07/2-compressed1-1-768x480.jpg.webp

pdf+ (gl anlip bjuo Upaw Gijgol ’
(L]glu.muﬁ) ‘
fun main(args: Array<String>) { varx:Int=0 printin("Example of While
Loop--") while(x<x=10) { printin(x) x++ }}

D23 o Yliw JS)950 33 1 g2j 5295 UL gl S

Example of While Loop—012345678910

o L2l )b S, 0dl> 5 053y 68 3515 DO-WHILE pb oy 5843 (5 080> S, (piazes calilS

DO- g 0al> jl o3latiuwl (50925 4o JUio .30 50 S byl 65 Cuwl Gloj T lgis c>guh

ol 63l Lo |y WHILE

fun main(args: Array<String>) { varx:Int=0 do{ x=x+10 printin("lam
inside Do block---"+x) } while(x <=50)}

Soby GulslS po o 5 0ol (UL 3S s Lxies o glis jS)950 33 [ g2j 5295 UL gl S

- WHILE Sgbs 5> b by 6355 S2 L 39 50 g 35S 0 o1 ) DO

| am inside Do block— 10l am inside Do block—20l am inside Do block—30I

am inside Do block—40Il am inside Do block—50Il am inside Do block—60

Lol ou 63 Lalizo sls 67195u0S L Ulatisl s b LT aogs 0wl sls Lj jl pIsS jo L S
L 67195udS ¢yl jI (g 1am5 bl 5 ool LolubT 35S o SaS 1381 o 4 s Sog) wgd
JL CawlgS s J g 35018 o 030k iawlgS 3,uy18 jl gyladbo 65 Cuwl 6lgads Sy — Return
S 50 ol alilS GanygasS Y=o jloslaiwl b 1 gy buw ¢zl g2j JUio 5> 3313800
fun main(args: Array<String>) { varx:Int=10 printin("The value of X is--
"+doubleMe(x))}fun doubleMe(x:Int):Int { return 2*x;}
9 O3S 50 }lp 93 P L 1 (53959 9 S o 1 (5523 IS Cuwlgs 3 bo UL (gl 3S s
AS 88 S S5 Cuwl OIS (Usd pujls s oo T ou g3 Uiy g 68 33aS Lo wiyyes S0
DA 50 355930 55 1) 2j 629> UL sl
The value of X is—20

s3g) break g 0j1gauls . s Lihio 5 sliwwo So Uiy o5 Il Continue & Break

Pl 1) S gzl yuSe Continue g 33S ;0 LiBgio S3S IS 3y Gh b 68 (i)ygu0 > |y JpiaS
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fun main(args: Array<String>) { printin("Example of Break and Continue")
myLabel @ for(xin 1..10) { // appling the custom label if(x==25) {
printin("l am inside if block with value"+x+"\n-- hence it will close the
operation™) break@myLabel //specifing the label 1} else { printin("l
am inside else block with value"+x) continue@mylLabel } }}

1> saslgS L jS5950 33 1 Juj 52902 UL sl S

Example of Break and Continuel am inside else block with value1l am inside
else block with value2l am inside else block with value3l am inside else block
with value4l am inside if block with value5— hence it will close the operation

60 AL X 5 j1ad0 63 (T 150 g 15 e 310 6wl | 68l 63358 1S (S (50 65 jghilos

JS >y break wjlic oy 89 g 35S o Lol | if (gld SJgy cauw s 56w X lado oS ¢l yazo
33 50 wa8gtio |y 6wl g2l JpiaS sig)

23 S0 L 1 s S jleslatiwl b 1S Sguadio gy 00l (5 0yl Jgool ¢ iy ozl o
« OOP oy =5 5ab .o jgol 50 S IS Sguatio YT L jghz oS ¢l g Ubsgratio g adiab 590
Csiag po g sy Jold oS uwl gl dusidg Sguaiio g Cuwl @l gly ik g 0yl 2b odub
63 Cuwl 63 03ud JuSaws adiab (5 0937 Sy g 8dab Ly jl 6dub plel (oulslS 43 394 0 T
gl 60 oud .Cuwl 6300 b ] se20 (i8> huugs
Class myClass { // class Header //class Body}
L Soylido Lo g 3 (50 | odub Sy jl Gali%o (gl Sguado SSlw (501 s S <lglo Jho
| odab slacl gl jusio gy by 8 pusles o 558 adlal | glinls 355,18 g sdsb glacl
C8)S uslgS Sb (g Sl JyiaS) lo iy g3 63 alido sl 0j1galS jloslatwl b
o L T (5 0kiung o 08 o jlw (0 Uiyld Sguado L oljes 5l dab ¢ j JUio 3. puiS Jyis
S (50 300 i adab T (g 031 glacl
class myClass { //property (data member) private var name: String =
"Tutorials.point" //member function funprintMe() { print("You are at the
best Learning website Named-"+name) }}fun main(args: Array<String>) {
val obj = myClass() // create obj object of myClass class obj.printMe()}
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fun main(args: Array<String>) { val demo = Outer.Nested().foo() // calling
nested class method print(demo)}class Outer { class Nested { funfoo() =
"Welcome to The TutorialsPoint.com" }}
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Welcome to The TutorialsPoint.com
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fun main(args: Array<String>) { val demo = Outer().Nested().foo() // calling
nested class method print(demo)}class Outer { private val
welcomeMessage: String = "Welcome to the TutorialsPoint.com" inner class
Nested { funfoo() =welcomeMessage }}
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fun main(args: Array<String>) { var programmer :Human = object:Human //
creating an instance of the interface {  override fun think() { // overriding the
think method print("l am an example of Anonymous Inner Class") } }
programmer.think()}interface Human { fun think()}
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typealias NodeSet = Set<Network.Node>typealias FileTable<K> =
<<MutableMap<K, MutableList<File
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class Person(val firstName: String, var age: Int) {

/l class body
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ffun main(args: Array<String>) {
val person1 = Person("TutorialsPoint.com", 15)
printin("First Name = ${person1.firstName}")

printin("Age = ${person1.age}")

class Person(val firstName: String, var age: Int) {

}
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. First Name = TutorialsPoint.com
Age=15
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fun main(args: Array<String>) {
val HUman = HUman(“TutorialsPoint.com”, 25)
print(“6{HUman.message}”+’${HUman.firstName} "+
“Welcome to the example of Secondary constructor, Your Age
is-${HUman.age}”)
}
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class HUman(val firstName: String, var age: Int) {

val message:String = “Hey!!!”

constructor(name : String , age :Int ,message :String):this(name,age) {

}

}
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Hey!!! TutorialsPoint.comWelcome to the example of Secondary constructor,

Your Age is- 25
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import java.util. Arrays
open class ABC {
fun think ()
{
print("Hey!! i am thiking ")
}
}
class BCD: ABC(){ // inheritence happend using default constructor
}
fun main(args: Array<String>) {
var a=BCDJ()
a.think()

}
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import java.util. Arrays

open class ABC

{

open fun think () {

print("Hey!! i am thinking ")

}

}

class BCD: ABC() { // inheritance happens using default constructor
override fun think() {

print("l Am from Child")

}

}

fun main(args: Array<String>) {
var a=BCDJ()

a.think()

}
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